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[ElES [H/NFe kg H/Fe ik
F—H= I VTN 3= T —I T N—I Va0 — AR 4 —TFT K 820 M 930 [
F=H= VTN ~NIF—TTL— 820 [ 930 [
F—H=w I VTN R—NF—X 820 M 930 M
TTIIF A —H =y 7T =T X —rFaab—rvhnar 980 M 1,180 M
TITIIF F—Ii=yy 7T =T X —rFaal—h&LyRRY— 980 M 1,180 M
TTITF F =T =l TT)—=T T T NITT ) 980 M 1,180 M
TTITGTF F—H=wyry T5)—F F—rFamal—h&E—F oy — 980 M 1,180 M
FTITF A —H=yy T=TR—FK 75 )—F N=F AT LY 980 M 1,180 M
F—H=yr azatryy F7 75 /—5 790 930 M
F—H=y) N==T—F R 55— 1,200 [ 1,380 1]
F—H=wy P~v—_— JF)—F 1,200 [ 1,380 1]
F—H=yr Fybt—rI— FVTF L 910 M 1,050 [
F—H=wl AR NF =R =L AT 4= Tk 980 [ 1,150 [
(7]
P 4 IH/NSE A HUNTEMRE
RFNFvT =Yk 141g 580 1 680 [
RFNF VT =YL R&EFH — 141g 580 1 680 [
RFNFvT N=—F4Var l4lg 580 1 630 [
RFNFvT INR&Aw8— 141g 580 1 630 [
[Z3—1 Jz]
[ElES [H/NFe kg H/ N Fe i
F—=H=vyl) TXANT Tr—Dr FV—=TF AN 1,670 [ 1,920 1
F—H=y) XA Tr—Pr FY—TF AL 250ml 1,200 [ 1,380 4
A =Ny XA Ur—Vr FV—TFH AN T—T4 1,670 [ 1,920 1
F =A==y Tr—Tr U F AN 250ml 2,000 [ 2,500 4
F—H=wy Ty—r ~NTU—RAAL 250ml 1,700 9 2,200 M
F—H=wy Tr—r TRARA AL 250ml 1,800 [ 2,300 [
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P31 4 [H/NZefifs | B sEdidk
F—H=wy FLrPVa—2R 200ml 300 M 370 14
F—=H=yl Ty FAPa— 200ml 300 M 370 14
F—H=ys LyRZL—FYa—2A 200ml 300 M 370 14
A =A==yl TN—IIy I AT a—A 200ml 300 M 370 14
F—H=yl Xy AAIT N 2—A 200ml 300 M 370 14
F—H=y7 Fruyh&IFA Pa—A 200ml 300 M 370 14
F—H=ys AprRY— IyIA Pa—A 200ml 300 M 370 14
F—H=vr FLoPVa—Z 1L 900 [ 1,080 M
F—H=vl N FIN—VPa—Z 1L 990 [ 1,180
F—H=vy TyINya—A 1L 1,060 M 1,180
F—H=vy TIYRALLVIvZA 1L 1,120 [ 1,300
F—AR77yiark LEXR—F 750mlf 860 [ 1,080 1]
[v3—b7F]
P b4 [H/NZEfids | B sEdiitk
A =A==yl & —F YR8 —100% (AL—2R) 350g 1,300 1,430 [
F—H=wy B—F 4 —100% (/7 F—) 350g 1,300 M 1,430 [
[~=1]
P 44 [H/NZefifs | BhsEditk
F—=H=yy TXANT Ur—Ir FV—=7F A/ 250ml 1,300 [ 1,950 1
F—=H=wl HF=H & JV—r FV—TIvr2 1,100 4 1,280 1]
A==y RTATI—Z} 1,100 M 1,300 1
F—H=w7 RTAMZ =R AV =T F A VT 1,100 [ 1,460 4




